## Caspian Journal of Mathematical Sciences (CJMS)

University of Mazandaran, Iran

http://cjms.journals.umz.ac.ir

ISSN: 1735-0611

CJMS. 3(1)(2014), 105-113

# Modified Laplace Decomposition Method for Singular IVPs in the Second-Order Ordinary Differential Equations

M. Mahmoudi <sup>1</sup> and H. Jafari <sup>2</sup>

- <sup>1</sup> Institute for Higher Education Pooyandegandanesh, Chalus, Iran Islamic Azad University, Nowshahr, Iran
- <sup>2</sup> Department of Mathematics, University of Mazandaran, Babolsar, Iran

ABSTRACT. In this paper, we use modified Laplace decomposition method for solving initial value problems (IVP) of the second order ordinary differential equations. The proposed method can be applied to linear and non - linear problems.

Keywords: Singular initial value problems, Laplace decomposition method, Adomian decomposition method.

#### 1. INTRODUCTION

In recent years, studies of initial value problems in the second order ordinary differential equations (ODEs) have been attracted the attention of many mathematicians and physicists. A large amount of literatures developed concerning Adomian decomposition method [1-4] and the related modification [5-6] to investigate various scientific models. This paper present a Laplace transform numerical scheme, based on the decomposition method, for solving linear and non - linear differential equations. The technique is described and illustrated with some numerical examples.

Received: 26 Feb. 2013 Revised: 6 July 2013 Accepted: 21 August 2013

<sup>&</sup>lt;sup>1</sup> Corresponding author: Math.mahmoudi@yahoo.com

The aim of this paper is to introduce a new reliable modification of Laplace decomposition method (MLDM) [17-21] . For convenience, we consider the general form of the second order non homogeneous ordinary differential equations with initial conditions is given below:

$$y'' + \frac{2n}{x}y' + \frac{n(n-1)}{x^2}y + f(x,y) = g(x)$$

$$y(0) = A, y'(0) = B,$$

$$(1.1)$$

Where f(x, y) is a real function, g(x) is given function, A and B are constants.

#### 2. The Method

The technique consists first of applying Laplace transformation denoted throughout this paper by L to both sides of (1.1), hence when n=1, we obtain

$$y'' + \frac{2}{x}y' + f(x,y) = g(x)$$
 (1.2)

Applying the Laplace transform denoted by L we have

$$L(xy'' + 2y' + xf(x, y) - xg(x)) = 0$$

Using the properties of Laplace transform, we obtain

$$-L(y'')' + 2L(y') + L(xf(x,y) - xg(x)) = 0$$
 (1.3)

$$-(s^{2}F(s)-sf(0)-f'(0))'+2(sF(s)-f(0))+L(xf(x,y)-xg(x))=0$$
$$-(s^{2}F(s)-sA-B)'+2(sF(s)-A)+L(xf(x,y)-xg(x))=0$$

Using the initial conditions, we have

$$-s^{2}F'(s) - y(0) + L(xf(x,y) - xg(x)) = 0$$
(1.4)

We decompose F(x,y) in to two parts:

$$F(x,y) = R(y(x) + N(y(x)))$$
(1.5)

where R(y(x)) and N(y(x)) denote the liner term and the nonlinear term respectively.

The Adomian decomposition method (ADM) polynomials can be used to handle Eq. (1.4) and to address the nonlinear term N(y(x)) MLDM defines a solution y(x) and the nonlinear function F(x, y) by infinity series

$$y(x) = \sum_{n=0}^{8} y_n(x)$$
 (1.6)

$$F(x,y) = \sum_{n=0}^{8} A_n$$
 (1.7)

Where  $A_n$  are the Adomian polynomials and it can be calculated by formula give below.

$$A_n = \frac{1}{n!} \left[ \frac{d^n}{d\lambda^n} N\left(\sum_{n=0}^8 \lambda^n u_n\right) \right)_{\lambda=0} \right] \qquad n=0, 1,2,... (1.8)$$

Therefore Adomian's polynomials are given by:

$$A_{0} = N[u_{0}],$$

$$A_{1} = u_{1}N'[u_{0}],$$

$$A_{2} = u_{2}N'[u_{0}] + \frac{1}{2!}u_{1}^{2}N''[u_{0}],$$

$$A_{3} = u_{3}N'[u_{0}] + u_{1}u_{2}N''[u_{0}] + \frac{1}{3!}u_{1}^{3}N'''[u_{0}],$$

$$(1.9)$$

. . .

After substituting (1.6) and (1.7) into (1.4), we have

$$-s^{2}L'\left\{\sum_{n=0}^{8}y_{n}(x)\right\} - y(0) - L\left\{xg(x)\right\}$$
$$+L\left\{xR\left[\sum_{n=0}^{8}y_{n}(x)\right] + x\sum_{n=0}^{8}A_{n}(x)\right\} = 0$$
(1.10)

Using the linearity of Laplace transform, it follows that

$$-s^{2} \sum_{n=0}^{8} L' \{y_{n}(x)\} - y(0) - L \{xg(x)\}$$

$$+ \sum_{n=0}^{8} L \{xR [y_{n}(x)] + xA_{n}(x)\} = 0$$
(1.11)

In general, the recursive relation is given by:

$$L' \{y_0(x)\} = -s^{-2}y(0) - s^{-2}L \{xg(x)\},$$

$$L' \{y_{n+1}(x)\} = s^{-2}L \{xR [y_n(x)] + xA_n(x)\},$$
(1.12)

By integrating both sides of Eq. (1.12), we have

$$L\{y_0(x)\} = \int \left[ -s^{-2}y(0) - s^{-2}L\{xg(x)\} \right] ds , \qquad (1.13)$$

$$L\{y_{n+1}(x)\} = \int s^{-2}L\{xR[y_n(x)] + xA_n(x)\} ds$$

Taking the inverse Laplace transform to Eq. (1.13) one obtains

$$y_0(x) = L^{-1} \left\{ \int \left[ -s^{-2}y(0) - s^{-2}L\{xg(x)\} \right] ds \right\} = H(x).$$
 (1.14)

$$y_{n+1}\left( x \right) \! = \! L^{-1} \left\{ \int s^{-2} \! L \left\{ x R \left[ y_n(x) \right] \! + \! x A_n(x) \right\} ds \right\},$$

where H(x) represents the term arising from source equation and prescribed initial condition. The initial solution is important, and the choice of Eq. (1.14) as the initial solution always leads to noise oscillation during the iteration procedure.

## 3. Modified Laplace decomposition method

In order to overcome the shortcoming, we assume That H (x) can be divided into the sum of two parts namely  $H_0(x)$  and  $H_1(x)$ , therefore we get

$$H(x) = H_0(x) + H_1(x).$$
 (1.15)

Instead of the iteration procedure expressed at eq 14 we suggest the following modification

$$y_{0}(x) = H_{0}(x),$$

$$y_{1}(x) = H_{1}(x) + L^{-1} \{ \int s^{-2}L \{xR [y_{n}(x)] + xA_{n}(x) \} ds \}$$

$$y_{n+1}(x) = L^{-1} \{ \int s^{-2}L \{xR [y_{n}(x)] + xA_{n}(x) \} ds \},$$

$$(1.16)$$

The solution through the modified Laplace decomposition method highly depends upon the choice of  $H_0(x)$  and  $H_1(x)$ .

### 4. Numerical Examples

**Example 1**. Consider the nonlinear singular IVP

$$y'' + \frac{2}{t}y' + y - (t^2 + 6) = 0, y(0) = y'(0) = 0. (1.17)$$

According to the MLDM and initial conditions we have

$$-s^{2}L'(y) + L(ty) - L(6t + t^{3}) = 0$$

The recursive relation is obtained as

$$L'(y_0) = -s^{-2}L(6t)$$

$$y_0(t) = L^{-1}(\int -s^{-2}L(6t) ds)$$

$$y_0(t) = L^{-1}\left(\int \int (-s^{-2}(\frac{6}{s^2}(-s^{-2}(\frac{6}{s^2}) ds) = L^{-1}\left(\int \frac{-6}{s^4}\right) ds\right) = L^{-1}(\frac{-6s^{-3}}{-3})$$

$$L^{-1}(2s^{-3}) = L^{-1}(\frac{2}{c^3}) = t^2$$
  $y_0(t) = t^2$ 

$$L'(y_1) = s^{-2}L ((ty_0) - L(t^3))$$
$$y_1(t) = L^{-1} \left( \int s^{-2}(L(ty_0) - L(t^3)) \right) ds \qquad y_1(t) = 0$$

. . .

$$L'(y_n) = s^{-2}L(ty_{n-1})$$
  
 $y_n(t) = L^{-1}(s^{-2}L(ty_{n-1}) ds$   $y_n(t) = 0, n > 1$ 

The solution series in general gives

$$y(t) = y_0(t) + y_1(t) + y_2(t) + \dots$$

The exact solution is  $y(t) = t^2$ 

Example2.consider the linear singular IVP

$$y'' + \frac{2}{t} y' - 10y = 12 - 10t^4$$
 ,  $y(0) = y'(0) = 0$  (1.18)

According to the MLDM and initial conditions we have

$$-s^{2}L'(y) + L(-10yt) + L(-12t + 10t^{5}) = 0$$

The recursive relation is obtained as

$$y_{0}(t) = L^{-1} \left( \int -s^{-2}L \left( 12t - 10t^{5} \right) \right) ds$$

$$y_{0}(t) = L^{-1} \left( \frac{4}{s^{3}} - \frac{1200}{7s^{7}} \right) \qquad y_{0}(t) = 2t^{2} - \frac{5}{21}t^{6}$$

$$y_{1}(t) = L^{-1} \left( \int s^{-2}L(-10y_{0}t) \right) = L^{-1} (s^{-2}L(-20t^{3} + \frac{50}{21}t^{7}))$$

$$y_{1}(t) = t^{4} - \frac{25}{756}t^{8}$$

$$y_{2}(t) = L^{-1} \left( \int s^{-2}L(-10y_{1}t) \right) ds$$

$$y_{2}(t) = \frac{5}{21}t^{6} - \frac{25}{8316}t^{10}$$

. . .

The solution series in general gives

$$y(t) = y_0(t) + y_1(t) + y_2(t) + \dots$$

So the exact solution is obtained as

$$y\left(t\right) = 2t^2 + t^4$$

When n = 2 in Eq.(1.1),we obtain

$$y'' + \frac{4}{x}y' + \frac{2}{x^2}y + f(x, y) = g(x)$$
 (1.19)

$$y(0) = A, y'(0) = B$$

By applying  $x^2$  to both sides of (1.19) we have

$$x^2y'' + 4x y' + 2y + x^2f(x, y) = x^2g(x)$$

Applying the Laplace transform (denoted by L) we have

$$L\left(x^{2}y^{''}\right)+4L\left(xy^{'}\right)+2L\left(y\right)+L\left(x^{2}f\left(x,y\right)-x^{2}g\left(x\right)\right)=0$$

 $L(s^2F\left(S\right)-sf\left(0\right)-f'\left(0\right))^{\prime\prime}-4L(sF\left(s\right)-f\left(0\right))^{\prime}+2F\left(s\right)+L\left(x^2f\left(x,y\right)-x^2g\left(x\right)\right)=0$  Using the initial conditions, we have

$$s^{2}f''(s) + L(x^{2}f(x,y) - x^{2}g(x)) = 0$$

Taking the inverse Laplace transform to Eq. (1.13) we obtains

$$\begin{aligned} y_0\left(x\right) &= L^{-1}\left\{\int\int\left[s^{-2}L\left\{x^2g(x)\right\}\right]ds\;ds\right\} = H\left(x\right).\\ y_{n+1}\left(x\right) &= L^{-1}\left\{\int\int s^{-2} - \left(L\left\{x^2R\left[y_n\left(x\right)\right] + x^2A_n\left(x\right)\right\}\right)ds\;ds\right\} \end{aligned}$$

**Example3.** Consider the linear singular IVP

$$y'' + \frac{4}{t}y' + \frac{2}{t^2}y = 12$$
 ,  $y(0) = y'(0) = 0$  (1.20)

According to the MLDM, we have

$$s^{2}L''(y) + L(t^{2} 12) = 0$$
  
 $y_{0}(t) = L^{-1}\left(\int \int s^{-2}L(12t^{2})\right) ds ds)$ 

$$y_{0}\left(t\right)=L^{-1}(\int\int s^{-2}(\frac{24}{s^{3}})\ ds)\ y_{0}\left(t\right)=\,t^{2}$$

The exact solution is  $y(t) = t^2$ .

Example 4. consider the nonlinear singular IVP

$$y'' + \frac{4}{t}y' + \frac{2}{t^2}y + y^2 = t^4 + 12,$$

$$y(0) = y'(0) = 0.$$
(1.21)

According to the MLDM, we have

$$s^2L^{"}(y) + L(t^2y^2) - L(t^6 + 12t^2) = 0$$

The recursive relation is obtained as

$$\begin{aligned} y_0\left(t\right) = & L^{-1}\left(\int \int s^{-2}L(12t^2)\right) dsds & y_0(t) = & t^2 \\ y_1\left(t\right) = & L^{-1}(\int \int s^{-2}(-(L(t^2y_0^2)) + L(t^6)) ds \ ds \\ y_1\left(t\right) = & 0 \\ y_n\left(t\right) = & L^{-1}\left(\int \int s^{-2}(-L(t^2y_{n-1}^2)\right) dsds \\ y_n\left(t\right) = & 0 & , \ \forall n > 1 \end{aligned}$$

The solution series in general gives

$$y(t) = y_0(t) + y_1(t) + y_2(t) + \dots$$

The exact solution is  $y(t) = t^2$ 

$$y\left(t\right) = t^{2}$$

Example 5. Consider the singular IVP

$$y'' + \frac{4}{t}y' + \frac{2}{t^2}y + ty = 20t + t^4 \qquad , \qquad y(o) = y'(0) = 0$$
 (1.22)

According to the MLDM, we have

$$s^{2}L''(y) - L(20t^{3} + t^{6}) + L(t^{3}y) = 0.$$

The recursive relation is obtained as

$$\begin{split} y_0\left(t\right) = & L^{-1}\left(\int\int s^{-2}L(20t^3 + t^6)\right) dsds \\ y_0\left(t\right) = & t^3 + \frac{t^6}{56} \\ y_1\left(t\right) = & L^{-1}\left(\int\int s^{-2}(-(L(t^3y_0))ds\ ds\right) \\ y_1\left(t\right) = & -\frac{t^6}{56} - \frac{t^9}{6160} \\ y_2\left(t\right) = & L^{-1}\left(\int\int s^{-2}(-(L(t^3y_1))ds\ ds\right) \\ y_2\left(t\right) = & \frac{t^9}{6160} + \frac{t^{12}}{1121120} \end{split}$$

The solution series in general gives

$$y(t) = y_0(t) + y_1(t) + y_2(t) + \dots$$

The exact solution is  $y(t)=t^3$ 

#### 5. Discussion and Conclusion

In the paper, modified Laplace decomposition method (MLDM) is applied to linear and nonlinear differential equation with initial conditions. The MLDM proposed in this investigation is simple and effective for solving in the second order of IVP and can provide an accuracy approximate solution or exact solution. Mathematica has been used for computations in this paper.

#### References

[1] G. Adomain, A review of decomposition method and some recent results for nonlinear equation, Math. Comput, Modeling, 13(1990), 17-43.

- [2] G. Adomain, Solving frontier problems of physics: the decomposition method, Kluwer. Boston., (1994).
- [3] G.Adomain, R. Rach, Noise terms in decomposition series solution. Comput, Math. Appl., 24(1992), 1161-64.
- [4] G. Adomain, R. Rach, N.T. Shawagfeh, On the analytic solution of the Lane- Emden equation, Found. Phys, Lett., 8(1995), 151-181.
- [5] M. M. Hiossini, Adomain decomposition method with Chebyshey polynomials, Appl, Math.Comput., (2006).
- [6] A.M. Wazwaz, A relible modification of Adomain decomposition method, Appl. Math. Comput., 102(1999), 77-86.
- [7] G. Adomian, R. Rach, Modified decomposition solution of liner and nonlinear boundary-value problems. Nonlinear Anal, 23(1994).
- [8] M. Jafari, M.M. Hossaini and Seyed Tauseef Mahyud-Din, Solutios of nonlinear singular initial value problems by modified homotopy perturbation method. International Journal of the Physical Sciences, 6(2011), 1528-1534
- [9] Y.Q. Hasan, L.M. Zhu, Modified Adomian decomposition method for singular initial value problems in the second order ordinary differential equations. Surveys in Mathematics and its Applications, 3(2008), 183-193.
- [10] Y.Q. Hasan, L.M. Zhu, Solving singular boundary value problem of higher-order ordinary differential equations by modified Adomian decomposition method. Commun Nonlinear Sci. Numer. Simul., 14(2009), 2592-2596.
- [11] Y.Q. Hasan, L.M. Zhu, A note on the use of modified Adomian Decomposition method for solving singular boundary value problem of higher-order ordinary differential equations. Commun Nonlinear Sci Numer Simul., 14(2009), 3261-3265.
- [12] J.H. He, Homotopy perturbation method for solving boundary value problems. Physt. Lett, A350 (1-2)(2006), 87-88.
- [13] J.H. He, Application of Homotopy perturbation method to nonlinear wave equations. Chaos Soltion. Fract., 26(2005), 695-700.
- [14] J.H. He, A coupling method of homotopy technique and perturbation technique for nonlinear problems. Int. J. Non-linear Mech., 35(2000), 37-43.
- [15] M.M. Hosseini, H. Nasabzadeh, Modified Adomian decomposition method for specific second order ordinary differential equations. Appl. Math .Comp., 186(2007), 117-123.
- [16] M.M. Hosseini, M. Jafari, An efficient method for solving nonlinear singular initial value problems. Int. J. Comp. Math., 86(2009), 1657-1666.

- [17] H. Jafari, C.M. Kalique, M. Khan and M. Ghasemi, A two-step Laplace decomposition method for solving nonlinear partial differential equations. International Journal of the Physical Sciences, 6(2011), 4102-4109.
- [18] M.Hussain and M.Khan, Modified Laplace decomposition method. Applied Mathematical Sciences, 4(36)(2010), 1769-1783.
- [19] M. Khan, M. Hussain, H. Jafari and Y. Khan, Application of Laplace decomposition method to solving nonlinear coupled partial differential equations. World Sciences Journal, (2010), 13-19.
- [20] S.Khuri, A Laplace decomposition algorithm applied to a class of nonlinear differential equations. Journal of Applied Mathematics, (2001), 141-155.
- [21] F.Yin, W.Han ,J.Song, Modified Laplace decomposition method for Lane-Emden type differential equations, international Journal of physics and Mathematics, 3(2)(2013).
- [22] H.Jafari, M.Mahmoudi, Solving IVPs of Higher-orderordinary Differential equations by modified homotopy perturbation method, Studies in Nonlinear Sciences, 3(3)(2012), 94-101.
- [23] M. Mahmoudi, M. V. Kazemi, Solving singular BVPs ordinary differential equations by modified homotopy perturbation method Journal of Mathematics and Computer Science, 7(2013), 138-143.